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Quantitative Aptitude for RRB NTPC (Solutions)

S1. Ans.(c)
Sol.
Put the value of x between 0 & 1.

1
Let,x—i

1 . 1 1
then value of x = 5% = E,w.,-":T: =5
so, we look the value of x and we find the increasing |::|r|:ler4i < ; <+,

P x < fx

[

$2. Ans.(b)
Sol. Three bell ring at different interval = 36, 40 & 48 secs.
They all together rang at = LCM of (36, 40, 48) = 720 sec = 12 minutes.

$3. Ans.(c)

Sol.
Let the 3-digit no. —(100x + 10y + =) a d d a
ATQ,

=(100x + 10y + z)-(x + v + z)
=(99x 4+ 9y) = 9(11x + y)
So, clearly seen this only 3 & 9 is correct answers.

A :L?hﬂtaalinns

S$4. Ans.(b)
Sol. “THE CRACKER"
Given that ratio — GENERAL AWARENESS

[History, Geography, Polity, Economics & Miscellaneous)
3500 < Multiple Choice Questions Book with Detailed Explanations

2ra3 2
- = = 10>9 so0, = is greater
385 38

Useful for RRB JE, RRE NTPC,

SSC CGL & Other Exams
2rall 11.
and ="' — = 30<33 so, —isgreater “
3 15 15 —
than =
3 Includes Previsws Years Qusstions of all Topics «f
Detailed Explanation of History, Geography, Polity, -
S 3 2 11 Ecomomics & Miscallaneous
0, sequence is = — < — < —
4 5315 ©

1 | www.bankersadda.com | www.sscadda.com|www.careerpower.in | www.adda247.com



S5. Ans.(a)
Sol.

Let tie no. are x & v.

Given that,

x.y =900 ...(i)

and,
(x+y)=(x—y)+30 ..(ii)
From (i) & (ii) —

x = 60

v =15

S6. Ans.(d)
Sol.

Given that,
#21+31+41+51

2 "3 "4 g
_5+1q+ﬂ+25
23 4 ' 5
_ 150 + 200 + 255 + 312 917
B 60 ~ 60

From options only (d) option satisfied

the whole number condition.
917 43 960

~50 Te0 60
$7.Ans.(d)
Sol.

V—=13824 = V24 x —24 x —24 = —24

$8. Ans.(b)

Sol.

Given that,

x+y+z=18 ..(i)

xyz = 162 .. (i)

x+y=z ... (iii)
So,x=6,y=3,&z=9

So, the value of squares of number
=6°+3*+97=36+9+81 =126
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S9. Ans.(b)

Sol.

Let, the three no.is x, v & =
xt+tyv+tz

x+}?+z=(—)+28

x+yt+z=42

“x, ¥, Z are consecutive even numbers
wsy=x+2=z-12

v =14

So, smallestno.x =12

& largestno.z = 16

$10. Ans.(c)

Sol.

Given that,
divisor 10

gquotient 1

divisor B 5
remainder 1
d 10 d 5
so,—=— &—=—
q 1 r 1
wr=46
d=5x46 =230
_d _
q=13=23

So, required no. = 230%23 + 46 =5336

S$11. Ans.(c)

Sol.

Here, 2 equation and 3 variable
let, put=C=20
a-b=9,ab=-19

(a-b)®=9?
a’-b*-3ab(a-h)=729
a’-b¥+3x19x9=729
a’-b*=729-57x9
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$13. Ans.(d)
Sol.

radius of circumcircle of equilateral triangle R = 7
a
di fincircle=1 = ——
radius of incircle -~
difference of area of circumcircle and incircle
() —=(5)
m|l—| —m|l——| = 396
V3 243

. 1 1
ma (———) = 396

3 12
5 3
ma“.— = 396
12

_396X4 396X 4X7
B N 22

aZ

™
a’=18x4x7

. 3
area of triangle = gaz

=V3x18x7
=126V3
S$14. Ans.(a)
Sol.
B ¥
f
20

150 é
% adda

BC 20
sin45%* = —=—
AB AB
120
vz AB

AB= 20y2m

$15. Ans.(b)

Sol.
A

60cm ¥y cm

60°
B X cm C
given,
AB=60cm

Let, BC=x cm
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AC=ycm
X+y=70cm
apply cosine rule
AB® + BC® — AC?
2.AB.BC
1 3600+x"—y-
2 2X60Xx
60 x= 3600+x*— (70 —x)*
60x = 3600 + x* — 4900 — x* + 140x

1300 = 80x

cosel =

130
BC = X:?: 16.2

AC=70-162
AC =538

$16. Ans.(a)
Sol.

1460 1606

$17. Ans.(a)
Sol.
T E

A — 16 3
N
Awork for 10 hrs

10 % 3 =30work
remaining =48 - 30 =18
this work done by B = ?
=9 hrs )

$18. Ans.(a)
Sol. BILINGUAL

10
r=—m
100
1
r=—m h=14m
10

curved surface area = 2nrh
22 1

~2x 2 RRB NTPC &

e GROUP D

f polishing 1m? =
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5 5
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$19. Ans.(c)
Sol. One negative number can make zero to sum of all remaining number.

$20. Ans.(d)
Sol.
M W M W
I —» 7 3 =10, — 49 21
- 5 2 7., — 50 20
Mixture —= 99 : 41
S$21. Ans.(d);
Sol.

Volume of lead
4 4
=-mr® =-m x 2°
3 3

If the thickness of gold be x cm, then

Volume of gold
4

=E’IT({2 +x)* -2 cu.cm
2 om((2 4 %) - 29)
=2mx 28

3

=(24x)P*—2%=2°
=2+x=2x1.259=2518
~x=2518-2=0518cm

$22. Ans.(d);

Sol.
Radius of larger sphere = R units
~ Its volume = ;—*rrRacu. units
Volume of smaller cone
= im‘g cubic units
Volume of smaller sphere
= gnrg
h

1
s—Tir® = =R3
3 3

~ Surface area of smaller sphere : Surface area of larger sphere
= 4mr? : 4nR?
=r?:R?

= (%) R*=1: (V)
=1: ((Ezﬁ)u =1: 25
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$23. Ans.(d);

Sol.
A 25 D

32 5
metre

B 24 melre C
AC=+AB® + BC?
—V3 124
=+/1600 = 40 metre
~ Area of AABC

=§>< 24 X 32

= 384 sq. metre

Semi-peri meter of AADC(s)
__ 25+25+440

=20 _ 45 metre

;rea of AADC
=ys(s—a)(s—b)(s—c)
=./45(45 — 25)(45 — 25)(45 — 40)
= 300 sq. metre

- Area of the plot = 384 + 300

= 684 sq. metre
S$24. Ans.(c);
Sol.
A
a (]
A
B C publications
[§]
BD 1 AC “THE CRACKER”
AB L BC GENERAL SCIENCE
Hypotenuse of AABC Multiple Choice Questions BBok
ultiple Choice Questions Boo
=+/AB? + BC? bt ;
s with Detailed Explanations
=va® + b?
Area of AABC = %x AB X BC eBOOK
= é X AC X BD
= AB x BC = AC x BD FIRST EDITION
— Pattern
= Hb =W Hz + bz x p Mullliglte]g:oice :
On squaring both sides, L) b, AL
ﬂ_h_ —_ (3.2 _I_ bZ]pz Solutions ':::‘I‘::'I:Iysstlrcysél o?l;e"stt;;?:s
2.2 Biology
v A h
aZ+h2 L, ©scoiio com
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$25. Ans.(a);
Sol.

. 2
Volume of hemisphere = Em‘a.

Where r = radius = 7 cm.
=(§xz—f><?>< 7 x?)cu.cm.

Volume of conical part

=(EXE>{?)< ?)-(?)cu.cm.
37 7

- Volume of ice-cream

:2 Z w73 +§><z—f><?3
=Ex73=22x72

= 1078 cu. cm.

$26. Ans.(a);
Sol

YN
AV,

Diameter = AE =8 4+ 4 = 12 units

Radius = - 6 units

=

- Area of circle = ir® = 7w X 6% = 36w sq. units

$27. Ans.(b);

Sol.

a*+b®+c®=ab+bct+ca
=a*+b*+c*—ab—bc—ca=0

On multiplying by 2,

2a® +2b® + 2c¢® —2ab — 2bc — 2ca =0
=a’*+b*—2ab+b*+c?*—2bc+c®*+a*—2ac=0
=(a—b)P+(b-c)i+(c—a)=0

=a-b=20

=a=Db

b-c=0=b=c

c—-a=0=c=a

. ate

Za
3 =—=72
b a
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$28. Ans.(a);

Sol.

ab+ ca=-bc
~a’—bc=a?+ab+ac
=ala+b+c)

Similarly,

hg—a{::b{a-l-h—i-c]
c®—ab=clatb+c)
1 1 1

af=be b?-ca c¢f-ab
1

" afa+b+c)  b(atb+c)  clat+b+c)
1 1 1 1

= Gt
1 0

= X =0

"~ at+b+c abc

$29. Ans.(d);
Sol

(2.+ V3)a=(2-V3)b=1

a= =
2+v3

Azt =2+V3+2-3=4

$30. Ans.(b);
Sol.

Ix+= =1
X

1
=x+-=
x

[T

On cubing both sides,
3, 1 1y _ 1
X+ ry +3 (.'{ + ;) =—

= x? 4 i y1=2 6 Months Subscription
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